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Directions (1-5): fArferfera ar$ =me fawett & fOra« & o1 5 (eRT-37emT a6 | AT F:7d a1
Tt 7 feraeor et T )
qTE AT T ALTAT shitord ST Fofertera s % 3¢ S|

I S el TEAT = 2500

b

'@?i’rm

" TE3IRTH Eﬂa«a

Q1. TENUT T, THART o T AT gaod F TTAT FLF a1 JTHAT T 3Fed AT siTa
ENIERT

(a) 750

(b) 445

(c) 500

(d) 520

() 525
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Q2. Ff% AT ¢aed 3T THARUH Zaoq F JTAT FIA a1l T2 T AIGATSAT HT STATT HAL: 2:
3 ST 3: 2 g, O UHARUH ad AT Fdr daed & THATHRT JTAT Fd ATl FigaAT ATAT AT
HEAT AT |

(a) 525

(b) 384

(c) 465

(d) 625

(e) 685
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Q3. fRU U qTE =TS § T daed ZTLT FATAT AT T HI0T JTd 1|
(a) 100.8°

(b) 126°

(c) 86.4°

(d) 115.2°

(e) TTH T FIT ARl
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Q4. HTAT Zaeq | ATAT FA ATl ATCAAT il HEAT, THAUH a8 3T 92 gaod ¥ HATHe 77
F AT AT 6T sfera dear o foraw sfaera srfaes g2

1
BEI'}"I}

(a)
(0) 78 j—%

(©) 80 7 O
(d)

(e) TAH & FIE ALl
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Q5. IfT & TaeH & 25% AT, T Taed F T 9¢ 2 a8 | ATAT Fd gl af 92 T Arar
e ¥ HETRT ITAT A Aol ATHAT T THART dqod A G497 daod T fHaTat T Fie
T ATEFT | ST AT it |

(@) 19: 13

(b) 53 : 41

(c) 37 : 49

(d) 41: 39

(e) TTH T FIE Aol
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Directions (6-10): faw 77 912 9TE § 5 ST-3 T TheAt & 2018 ® 10 &7 A1 7047 | Iuferq
g ATl T=ntiat it §ea7 T90E T2 g ST &F TS qTierht | 396 Hed Aigar @=nei=y aiv
frera ATt AT 2

faefiat dr sar F&ar = 4000
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Q6. Tl A | IUTEAT ASHI T e B | IUTEAT ASHI & AT AT shl o1 |
(a)1:3

(b) 2 :1

(€)3:2

d)1:4

(e)3:5
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Q7. ¥ ‘C’ & &9 =it &6 ‘D’ & AigdT [=tiat &7 haar Jiaerd 872
@) 77 2%

(b)
(c)

(d)
(e) TTH T FIT ARl
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Q8. ¥ B, D i E & "igar fe=fat it sfed §&aT A1 S0l
(a) 493

(b) 502

(c) 548

(d) 508

() 522
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Q9. I T A % Tt FA=tiat & § 80% =TT IO T, 3T Thed A § 72 A= AT g
T qT AT ASTHRAT il HEAT ST T |

(a) 232

(b) 221

(c) 245

(d) 264

(e) 205
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Q10. =T A 7 E ¥ Framef wer B e C ¥ fremfeait 1 qorem § et sfvera 9 £2
(a) 30%

(b) 20%

(c) 25%

(d) 32%

(e) TTH T FIT ARl
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Directions (11-15): et woIi % 3% o= & forv Mo a5 =1 &fie arferrr &1
AT AT I

qa & fafas a3t § S arer wewt # afaed [aer $i 399§ qEul & afganst

qqaTd
el i FoT qedT = 1800




Percentage Break up of tourist

&Y TAEHT AT AgaT Theahi 7 TaTd

T ™ i
UIER 13 1
ITLEE 2 5
Ty 12 11
IdT 5 1
ST ST FeHIT | 5 12

Q1. AT ST THUT 1 ATAT FA a7l T&T TSI il GE&AT [ha=1 872

(a) 632
(b) 674
(c) 684
(d) 649

(e) TAH & FE gl
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Q12. THUT T ATAT FIA ATAT HIgAT TAEh] il H&AT, THT AT & FHATHL THeHl 6l FoT qeaT

T feohaeT wfaerd g2
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(b) 5

(c) 19

(d) 15

(e) 11
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Q13. SAEE AT STH-FHIT il HATHRT AT FIA ATAT AlgeAT TAEhl il HEAT FH FIL
STeAatea AT TsAT | THATHT ITAT FA a1l T TAEhT i Hed TEAT F FHiHE TTATT Tha T 872
(a) 35:33

(b) 23 : 51

(c) 22 : 31

(d)3:7

(e) TTH T FIS AGI
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Q14. Tt T=AT T THATHRT TTAT FIA AT T&T TASHT 0l TR AT T&AT 47T 872
(a) 212

(b) 210

(c) 223

(d) 208

(e) 206
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Q15. AT ST AT T TAeahi il GC&AT, TET S ATl ThEahi i FoT G&AT & fohaar afaerd
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(@)
(b)

(c)
(d) 94

(e) TTH T FIT Aol
L1Difficulty 2

QTagsPie Chart DI
QCreatorDeepak Rohilla

922

88>
4

Solutions

S1. Ans.(c)
Sol. Average numbers of passengers travelling from Neeta travels, SPS travels and

SRS travels
_ (25+20+15) 5 2500

3 100
=500

S2. Ans.(a)
Sol.

Females travelling from Neeta travels
and SRS travels

2% 2 %2500+ 2x 2 %2500
5 100 5 100
=525

S3. Ans.(d)
Sol.
Required angle = % % 32=115.2°

S4. Ans.(b)
Sol.



Passengers travelling from Neeta travels = 25%

Average of passengers travelling from SPS travels and Noor travels together
20%+8%
=— =140
25-14
14

¥ 100%

So required percentage =
_u

=5 X 100%

= 78204

-
o

S5. Ans.(d)
Sol.

Required ratio
1
S+32XE+25

15+32—32X%
8+8+25

 15+32-8
41

T 39
=41:39

S6. Ans.(b)

Sol.

4000320350
_ . 100”100
Required ratio = 24 25

4DﬂﬂKEEEKIEE

=2:1

s

S7. Ans.(b)
Sol.

Female students from school D

=4000 x — X — = 180
100 * 100
Male students from school C
= 4000 X —— x = =320
100~ 100
Required percentage

_320 _ 1772
= Ts0 * 100 1??9%



S8. Ans.(d)

Sol.

Required students

24 75 , 10 45 30 _ 52
_ 4000 (100 * 100" 100 100" 101])(100)

3
_ 720+ 180 + 624
- 2 =
S9. Ans.(a)

Sol.

Total students from school A = 4000 = % = 800

Girls student from school A = 800 = % =320
Boys student from school A =800 - 320 =480
Total passed students from school A =800 x % =640

Passed boys student from school A =480 - 72 =408
So, passed Girl students = 640 - 408 = 232

S10. Ans.(c)

Sol.

students from A and E = (30 + 20) = 50%%
students from B and C = (24 + 16) = 40%

50-40
= 250
o X 100 = 25%

Required% =

S11. Ans.(c)
Sol.

Required number of male tourist

visited of Goa and MP together
13 12 23
=—X—x 1800 + — X ——x 1800
14 100 23 100

= 468 + 216
= 684

S12. Ans.(e)
Sol.



Required percentage of female tourist

(% x % x 1800)

= »x 100
1800
=11%

S13. Ans.(c)
Sol.

Number of female tourist who visited of
Uttarakhand and Jammu & Kashmir together

5 14 12 17
=—x1800 X —+ — x — x 1800
7 100 17 100
= (180+216)
=396
And, Total no. of tourist who visited of these states

14 17
=——x 1800 + —— x 1800
100 100

= 558
396

. Required ratio = — =22:31
558

S14. Ans.(c)
Sol.

Required average
—1(13x23+2x14+12x23+5x'1a+ > x17)x 18
T 5\12 7 23 6 17

== (468 + 72 + 216 + 270 + 90)

=223.2
2223

S15. Ans.(b)
Sol.



Male tourist who visited Goa
=22 x 1800 x =
14 100
= 4#8

Total tourist who visited Goa

28
= ——x 1800
100

= 504

. 468 3
- Required percentage = e 100 = 92;%
Alternate,

~ Required percentage = E x 100 =92 ;%



